BURACTION - [LEVEL 2

(e
HELLD, MY MAME 15 MAX, AND THIS 12 POE. CE?

WE ARE YOUR GUIDES THROUGH WHAT WE
:ﬁ? CALL, MATH CRUSH.

IN THIE BOOK, WE'RE GOING
TO ETUDY SUETRACTION,
ALSC KMOWH AS MIMNUE, LESS
THAN, TAKE AWAY, OR
DIFFEREMCE.

YOU BETTER HAVE A LICEMSE
TO USE MATHCRUSH COM

3

fdath Crush grants you a bmited and revocable license to use Mathorush com for the purpose of personal use.
Pamission 1o use downloaded materials is vald for the duration of the susscrption term. Continued persanal ar
classroom use requres a cwrrent Math Crush License. You may not distribuge, display, create derivative warks
from, transkate, modify, reverse-enginecr or otherwise cxploit Mathorush,com or any partion of it You may not
make any commercial use of any information provided on Mathorush.com or make any use of Mathonshcom far
any commerial bencft, Math Crush reserses the night to refuse servioe or teminate accounds in s dscretion,
including, wathout Imitation, i Math Crush determines that any customer canduct wiokrtes apphcable law or is
rarmful to the interests of Mathorush.com




SUBTRACTING 3 NUMBERS  |vou KEED TO SUBTRACT IM ORDER. START WITH

THE FIRET HUMBER AND WORK AMIAY FROM IT.

-

.15 -5 -1 =__ 2.7 -3 -3 =__
3 13- 7 - 0=_ 4 11-5 -4 =__
5,9 -3 -2=__ 6 6 -2-2=__
17 -6 -7 = 8 18 - 9 - 5 =
9. 14 -0 -4=__ 108 -0 -7=__
M. 5 -2 -3 = 1212-4 -6 =
1310 - 2 - 6 = 1415 - 7 - 0 =
15.16 - 8 - 1 1.3 -1 - 2 =
17.12 - 4 - &5 = 18.14 - 5 - 8 =
ANOTHER WAY WHEN SUBTRACTING, THE BIGGER
NUMBER ALWAYS GOES ON TOP

L]

1. 57 - 7= - [7] 2. 68 - 9= - ||
L] L]

L] L]

3 83 - 5= - [ | 4. 74 - 6= - []
] ]

L] [ ]

595 - 2= - | | 6. 46 - 4 = - [ |

[
L]
[
[




BIGGER NUMBERS

50 HOW DID THOSE REVIEW PAGES GO? |
HOPE THEY WERE WOT TOO MUCH TROUBLE.

YO KNOW GOING OVER
WWHAT WE LEARMED IN THE
FAST REALLY HELFS ME.

WWELL, WE MEED TO START
LOOKIMNG AT BIGEER
HUMBERS, BUT JUST
REMEMBER MOZT OF THIS 15
PRETTY MUCH THE SAME.

ALRIGHTY THEM._LET'S
GET STARTED.

ZEE THE MUMBERS ARE GETTING
BIGGER, BUT THE PROCESE IS
EXACTLY THE SAME.

SO WOULD 2TART FROM THE
RIGHT AND D33 - 2= 7. THEN
E-5= 1, ANDLAST3-1=2

YES, BUT WEWE JUST
STARTED .| ASSUME THERE
WILL BE HARDER PROBLEMS
COMING 500N

AMOTHER
HELPFLUL EXAMPLE

AWORRY WART.




PRACTICE -C

WE HAVEN'T

HELPFUL EXAMPLE
368 368 368 . 368 _
. 346 - 346 - 346 - 346 %°

[2]2 02 2=
HWCOT HEEDED?

1. 6 2 0 2. 4 3 6 3. 4 7 8B

-2 10 - 1 5 -4 6 7
4 5 2 7 s 55 8 5 7 2
- 510 -1 2 4 - 4 2
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10. 12, 9




HEY PDE, LET'S TAKE A BREAK.
HOW DO ¥OU FEEL ABQUT
SOME MATH ART?

COOL, | LIKE THESE.. WE DID
THEM IN THE OTHER BODKS

YES, | KNOW SOME OF YCU MIGHT ALRE&ADY
EMOW HOW TC DD THIS, BUT PLEASE TAKE A
LOOK AT THE EXAMPLE BELDW.

PATTERN #1 FATTERN 82
[ - 4 = 2 15 = 7 =
% - 3 = 13 12 - 2 =
12 - =1 = T 20 = 4 =
20 - 2 = 18 11 - 7 =
2% . @B = 18 1 - 1 =
0O YO SEE HOW | w - e = _1 2 - 3 =
ANSWERED THEPROBLEMS | & - O = _3 1w - 5 =
I PATTERN #17 THEM | g - 2 = _B Fo- 2 =
COMMECTED THE DOTS IN no - 1 = _10 % - 6 =
THE DROER THAT THEY LINE ENDS LINE EMDS
WERE IM. NOW YO GIVE
FATTERM #2 & TRY
15 18
LRt B S
1
[}
1]
1
\
. 8
N
ﬂl !' ‘ -
%
He &
DONT FORGET THE
. PATTERNS ARE NOT
IT'S LIKE COMMECT MHECTE D TORETHER

THE DOTE.

1




DIRECTIONS:

AMSWER THE PROBLEME BELOW AND CSONNECT THE DOTS M THE ORDER YOU CREATED.
I ETARTED THE PATTERN FOR YOU ,, HOW YOU DO THE REST,

MOTE. PATTERMS ARE NOT CONMECTED TOGETHER.

45
60
T8
41
72
45
a2
10
45
a5
]
06
]
53
40

PATTERHN #1

- a7 =
- 23 =
- 24 =
- 2§ =
- 11 =
- 95 =
- 39 =
- B =
- 12 =
- 44 =
- a0 =
. 3F =
. 16 =
48 =

2 =

L]

1

L
ot

LINE ERDZ

41
a6
53
&2
a3

-]
75
55
T2
132
42
48
a8
&l

PATTERN #2

- 3 =
- 98 =
- 19 =
- 34 =
- 23 =
= T =
= B =
= 2% =
= 25 =
= 731 =
= § =
= M =
= f =
= 20 =
= 35 =

LIHME EMDE

14
&0
54
il
63
57
38
36
&1
&5
48
58
&7
16
&0

HMAME:

PATTERM #3
= 12 -
- Mm =
- B =
- 57 =

= 185 =
= 3 =
= 41 =

LINE ENDE

41

k3]
53
45

NEEEFE

PATTERN 84
- 24 =
- 12 =
- 8 =
- 45 =
- 4 =
- 25 =
- 45 =
- a7 =
- 4 =
- M =
- 15 =
- 11 =
- 3 =
- 17 =

= T4 =
LINE END:2




BEORROWING - CONTINUED

IF BORRCAWING CONFLUSES YOL,
REMEMBER THIS BAYING, "GO MEXT
DOOR AMD ASH FOR MORE®

I TOO SMALL. I'LL
GO HEXT DOOR AND
ASK FOR MORE

WVWHEM YOLU LOQK AT THIS PROBLEM YOU SEE THAT THE 115
= B TOO SMALL, AND YOU CAN MOT SUBTRACT 5 FROM 1

I MUST GO NEXT
DOOR AND ASK

- 3 1 5 FOR MORE.
| DON'T MEED TO BORROWBLIT SINCE THE 515 BIGGER
HERE COMES THE 1. WHY THAM ME | NEED TC» G0

DONT ¥OU GIVE IT TO HIM? ASKTHE 2 IF | CAN

BORROW FROM HER




PRACTICE - C

HELPFUL EXAMPLE

MAKE SLRE YOU LINE
UP THE MUMBERS
CORRECTLY

E 864-47 = [ | O

y _
5 5 5

8 6 4 8 814 8 814 8 814

- 477 4T #7177 v a4z

L7] [1]7 [8[1 7
1. 517-315= 2. T41-135= 3. T36-317=
4, 944 - 327 = & 945-8634 = & 782 -68=
7. BBB-345 = 8. 458-439 = 9. 645-225=
10. 652 -416 = 11. 465-37 = 12. 784 -705 =
13, BY7-635= 14, 293-273 = 15. 371-137 =
994 -7T8=_ 17. 4B2-152= 18. BBT -349=

,ﬁbﬁ

TO PRACTICE OH.

HERE'S A MATH ART FAGE

17




BEORROWING FROM 07?

HEY MAX. | WS WONDERING WHAT
WE D0 IF THE NUMBER QM THE LEFT
15 0, AND WE CANT BORROW?

T DO 15 THIMEK QF THE SAYING, G0

WIOW, GREAT QUESTION. ALL ¥OU HAVE
NEXT DOOR AND 85K FOR MORE "

| UNDERSTAND WHAT THAT MEANE, BUT
YOU CANT GO NEXT DOOR AND ASKE FOR
MORE WHEM THE NUMBER 15 0.

TOO TRUE, BUT THE @ CAN FIRST BORROW,
THEMW OMGE IT TURMS INTQ 10 THE OTHER
MUMBER CAN BORROW FROM HIM,

VERY INTERESTING, , BUT CAN YL
SHOW UE OM THIS EXAMPLE?

THIS MEANS THE @
THE 4 NEEDS TQ MEEDS TO BORROW
BORROW FROM THE O, FIRST. IT GOES TO THE 8
BUT SINCE IT HAS AND BORROWS, WHICH
MNOTHING TS UMABLE TO TURMS THE B TC & 7 AND
GIVE THE 4 ANYTHING, THEOTO & 10

HOW THE 4 CAN
BORROW FROM THE
10.THIS MEAMNS THE 10
TURNE INTO A 8 AND
THE 4 TURNS INTD 14.

IT5 THE SAME PROCESS
WITH & TINY DIFFERENCE

TINY HUHT




BEORROWING FROM 0 - CONTINUED

IT DOESNT LODK THAT HARD, 50
LETS DO ONE TOEZETHER

WHEN ¥YOU FIRET LOOK AT THIS ¥YOU REALIZE THAT ¥OU
CAMN NOT SUBTRACT 3-8 BECAUSE THE 215 TOO SMALL.

CAM | BORROW
FROM ¥ OU?

BUT w0 CAN NOT BORROW BECALISE THE NUMBER TO
THE LEFT I35 0, WHICH MEAMNE HE HAS NOTHING TO GIVE.,

HEY . YOU CAanN
BORROW FROM ME.

S0 Y0OU NEED TO FIRET BORROW FROM THE 6. THE
SWILL TURM INTD 5, AMD THE 0WWILL BECOME 10,

MOV YU CAN BORROW FROM THE 10 13-8=5
MAKING IT 9, AND TURKING THE 3 INTO 13, $-4=5
THE FIMAL AHNSWER WILL BE. 355, 5-2=3




PRACTICE - B AMATELR MAGIC NIGHT

TAKE YeIlR TIME &H THESE
LAST TWO PAGES, THEYRE | |,
& LITTLE TRIGKY .
5T KEEP
SMILING.. NOTHING _{ﬁ\‘ﬁ, o
GLUE CANT FIX. o A
‘\“ S iy (LT
Ml 1L MAYEE | SHOLLDNT
L= Ba s [HAVE VOLUNTEERED,

. 807 2 604 3. 3065
-2 38 -457 -2 866
4 702 5. 807 6 600
-446 -799 -234
7. 403 8 75 g 06
-149 -128 - 158
0. 605 1M1. 947 2. 707
-263 -323 -249
13. 935 4. 70 2 15. 5 5 5
- 478 -645 -136
16. 71 7. 108 18 8 5




SUBTRACTING 3 NUMBERS - CONTINUED

BEFORE WE GET STARTED, LETS
LOOK AT A PROELEM TCGETHER.

89-5-43 =

[£33-] [ ] [Eaeser
8 9 8 9 g 9
50 5o |5
- 43 - 43 -43
L (41

MAKE SURE ¥OU LINE UP THE
MUMBERS CORRECTLY. THE 5 MEEDS
T BE PLACED WITH THE 3 AND 3.

FERFECT. DO v SEE HOWWE
WORK DOWNWARDS, AND THE
BIZGEEST NUMBER |5 STILL ON TCFR?

S0LVE THESE PROBLEME. MAKE
SURE ¥YOU SHOW YOUR WORK.

1. 79-31-7= 2. 5B-14-22=

USE THE SPACE PROVIDED TO E

3. 99-24-42= 4 46-31-5=
5. B8-33-25= 6. 55-11-13=
7. 67-6-40=_ 8. 89-32-44=
9. 096-13-52= 0. 75-41-23=




DIRECTIONS:

AMNSWER THE PROBLEMS BELOW AND CONNECT THE DOTS M THE ORDER wOU CREATED,
| BTARTED THE PATTERN FOR YOU . NOW YOLU DO THE REST.

MOTE: PATTERMS ARE NOT CONMECTED TCSETHER,

50
18
59
BE
15
g2
B8
44
49
2
81
32
53
58
B9

HAME:

FATTERN #1 FATTERN #2 PATTERM #3 PATTERN 24
-2 = 70 T1 - 30 = B5 - 44 = 7B - 43 =
- 13 =_3 82 - 8 = = R wo- 3 =
- 32 = 22 - b = g8 - 16 = TE - 22 =
-7 = 22 - 4 = 2 - = 65 - 11 =
- 8 = Bl - & = 48 - = 9 - 3 =
- 7 = 15 - &5 = 23 - 4 = 78 - 54 =
- 52 = 56 - a7 = 99 - T = wo- 6 =
- 11 = 1w - 17 = 50 - B = ¥ - 8§ =
- 8 = m - & = 1% - 7 = BG - 35 =
- 10 = T4 - 81 = 95 - 81 = a - § =
- 41 = B6 - 20 = 17 - 2 = 45 - 9 =
- 7 = 7 - 3 = 42 - 22 = ) - 20 =
- 3 = 42 - 4 = 56 - 54 = 85 - 73 =
- 24 = 5 - 5 = | - 9 = 11 - & =
- &7 = 46 - 8 = 72 - 4 = 7o - 43 =
LINE ENDE LINE EMDS LINE ENDS LINE ENDE
- 38 40
10 .= s "
[* . - L= -
75 18 74 48
-
He 17* 1 # .
] ""-\L_. 3
o = R

Ll o

i g5

35 5om
[ * a0
o oe @

1ig ® -

Yo e w5

13._5_

LT - 27
B ey 5
e el
rf
LB
-———

37




EORROWING - CONTINUED

MOWWE NEED TC LOCK MORE
CLOSELY AT THE FROBLEMS.

WE MEED TO LOOK AT THE
RIGHT SIDE FIRST, WHICH
WOULDBEG-2-B,

6-2=4 THEN WE
SUBTRACT 4 - B._WARITA
SECOMD WE CANT DO IT.

BUT CAM YL SUBTRACT
VATHOUT BORRCAWING?

6. - 2 - 8
4 - 8

TOO EMALL

EXACTLY. SINCE WE ARE SUBTRACTING TWO
HUMBERS FROM THE 8, WE NEED TO CHECK, TO
SEEIFITIS BIG ENDUGH FOR BOTH NUMEERS.

WOW, MATH 1S FULL OF SURFRIZES,
BUT REALLY ALL'WE NEED TD DD IZ
LOOK CLOSER AND TAKE OUR TIME.




PRACTICE -B

1

1

17.

B6-4-39=

83-31-22=

T0-42-26 =

67-34-21=

99-17-56 =

58-14-17 =

B4-35-6-=

95-31-43 =

29-8-7=

10.

12.

14

16.

18.

94 -20-46=

58-15-17=

49-13-25=

76-9-41=

65-23-256=

Ar-8-14=

49-21-17=

71-28-30=

BE-33-2b6=

42




10 IS NOT ENOUGH - CONTINUED TCOULD BE

Fz—. THAT'S CRAZY., WHID WOLLD OF
e % THOUGHT ¥ QU COLLD BORROW
MORE THAN ONCE FEOM THE

SAME NUMBER.

LET'S TRY ONE TOGETHER TO
MAKE SURE WE GOTIT.

| ALREADY EMOW WERE
GOANG TO HAVE TR
BORBEOW TWICE, | DIDIT
It MY HEAD

AHOTHER WAY TO LOCEK AT THIZ PROBLEM
WOULD BE TO CHANGE THE 7 TC S AND
CHAMGE THE 3 TO 23 S0 INSTEAD OF
BORROWING 10, WE BORROW 20

THEMN SUBTRACT
Z3-8-B=10 AND
5-1-1=3

SEE IF ¥OU CAN DO THIS |7
OME OH YOLR OV, =




THEH WE'LL SEE IF YOU'RE

READY TO MOVE ON
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PRACTICE -B
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FINAL TEST

1. 840 2 907 3 735
-21686 -2 409 -355
4 56 2 5 4 8 8 ] 6 46
-307 - 7 4 -2 48
7. B32-238= B 904-89= 9 B03-145=
10 6 1 11 87 12. 7 4
3 4 16 30
- 8 - 17 -2 2
13. 9 6 14. 7 8 15. 8 2
35 1 4 27
- 31 - 29 - 36
16. 79-23-34= 17. E0-27-8=
1. B89-48-22 = 19, 93-19-38=
YOUR SCORE _OUT OF 19 HOW YOU DID: 16195 =/ 14-15= 2 /13 0R LESS = 7

50
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